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ECONOMICS
( Major )
Paper : 1.1

( Microeconomics—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
s fHAPTRS eI Ted fora
{a) is the root cause of all economic
problems.

( Fill in the blank )
2’9 e HAASE TR P IR |
( A1 o2 o9 91 )

{b) What is sunk cost?
P T 7
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(c)

(d)

(e)

(g)

()

0

8A/363

2)

What is an isoquant?
FHTLATACILN 3 2

Define Engel curve.

GTE 9 TR R |

What do you mean by change in scale?

TeoAT MR +ARTE oreet & e o2

What is income consumption curve?

R Togere 3¢ 9

Define equilibrium.

SPTHOR HeT fea |

Define factor elasticity of substitution.

eifSTaa B Rfewrrrem wgw fi |

What would be the shape of indifference
curve if MRS increases?

I MRS % “m, cofSm fiers @ wghe

@A R ?

Draw the demand curve in case of
Giffen good.

faces WR SIfEm @STeE S5 59 |

( Continued )

(3)

2. Answer the following questions :

OO RPTYRS TS ferd

(@) Show that MC = TVC, -TVC,,_;.
¢ysa A MC = TVC,, -TVC, _;

{b) Distinguish between explicit cost and
implicit cost.
ST T S HLLTN 9 AF A o

(c¢/ What are stable and wunstable
equilibrium?
R = wfES ST & 2

(d) How is elasticity of demand associated

(e)

8A/363

with Average Revenue and Marginal
Revenue?

T Y WE ARE SE, vEve Rfeweeer
F'TS @FAF TS 2

Point out the differences between
marginal rate of substitution and
marginal rate of technical substitution.

doTsE afes @ wF IR 2foesm
#feS =TT N0 Sgfer fm |

{ Turn Over )

2x5=10




(4)

3. Answer any four of the following questions :

5x4=20

word & e el e Teq fos

(@)

(b)

(c)

(d)
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Explain the assumptions of indifference
curve analysis.

fReers @1 RorseR SfSyRapTR I 40 |

What happens when working of market
is interfered?

TEEE FF 2B IR 2w

Explain the concept of consumer’s
surplus with the help of indifference
curve.

fraCePe N TRRS (STER 78 Qs
1

Distinguish between short-run and
long-run expansion path.

AN W WESEE TR U TIeS
“frefes foret |

( Continued )

(e)

(5)

Derive Engel curve in case of a normal
good.

FoRe T (TS GIEF I& (@R 1 AR
Gl

“Indifference curves never intersect.”
Why?

“Rrarers (AR (@Tome THEH T 17 R

4. Answer the following questions :

T T e o

(@)
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Distinguish between static and dynamic
equilibrium. 10

e s SfRer SRR WEd N @4 |

Or / 9«1

Explain  Hicksian and Slutsky’s
substitution effects. Which one is

superior? 8+2=10

Hicks &% Slutskyd #fewsm Reme
4] | (IO & 7
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(6)

(b) For equilibrium, why should marginal

(c)
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utility of money be equal to the ratio of
marginal utility to the price of each
good?

S @S] 3d, ARy TNAR e
oSl oF Y SeAe 71 qgR e
TSR S 279 FCA ?

Or/ 9311

How would you derive demand curve
with the help of indifference curve
technique?

e @ @reRr e st @R e
e SR 21{ 2

Explain various types of returns to
scale.

B TR S a9 efenmomz 3641 91 |
Or / 9371

Explain the concepts of increasing
return, decreasing return and negative
return in case of variable proportion
production function.

ARTETA SPTe TeAms TAE (TS (TR
. SRt ofene, FEgrTE dfewe  oe
YIS 2SR LRECFE0! 361 341 |

10

10

10

10

( Continued )
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(7))

(d) Explain how profit is maximized with

the help of Revenue and Cost analysis.
Y N IR [EER A2 A¢ @EE FHiEe
91 7Y, I 740

Or / 911

Explain how a producer attains
equilibrium wunder different budget
constraints.

a5 Teormeiacy f[feH qewt  afesmere
(T S TS T, TR o= |

ok ok
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